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Time : Three Hoursl [Maximum Marks: 100

t'rc : ftd qiq qrit d voq Afuq I q.ft er{t d 3rfr sqrq d I

Note : Answer any live Question. All Question czury equal marks.

1. 'ft1 ftqffi oq rqri or v6' tqlfuo \q ifro, trtrr t t" vs oerq 6t s{flSt gf vw,
T6r srsr{t I

,,Tax planning is a legal and moral way of tax saving". Discuss the statement and describe its

importance.
2. ;r-ff ftrftts \'fi t{ft o,'qft t ffi srflr trT rrnqkT frd t oq-ft o1 .ra q{ zots-zotg

frt oTrq} o'r fr+tur frq t-
Ajay Ltd. Is a domestic company in which public are substantially interested. The

fottowing are the particulars of Income in respect of the previous year 2018-2019.

(a) WfOfft gfr$df rN eINI Interest on Govt. securities Rs.20000

15) qqff At eTfq Income from Business Rs. 500000

(c) srgr{oTfi{ rfft Tiqfu rN ETIIT Short term capital gain Rs. 15000

1Oy frffit r[fr anr Long term capital gain Rs. 33000

(e) crgftq 6-rTft * arrng (ffid) Dividend from Indian company(cross) Rs. 10000

(D f{kft o.qft * Arrrrur Dividend from a foreign company Rs. 10000

(g) qrtr U/S 115-tB + trT gw+t+ art Book profit U/S 115-18 Rs. e00000

6qft of Ea G{rq fler g€ o,r Erffm o1 'rqqr alftnt t

Compute company total income and its net tax liabjlity.
3. sr, E, qdq'\'o'ffi tr i {trw + qdER trr*o i z6oooo 5, [fr.--t{ tt S

w *'q sd + qrftlrfo, it * Td 6{ iDT GTrrr loooooo ir. t ot <rkm of qn d Tsi
gt E+ g-$rq frM t

A fi". consists of three partners A, B and C with equal profit sharing Ratio, they have

contributed Rs. 200000 each as capital the profit of the business before interest on capital

and remuneration to partners is 1000000, from tax point of view suggest them whether

they shoul{naV.
Fi"+ trfr qi loyo erm \q r$o, o) rzoooo ETt qrffio, qrRlrfo, ftqr qri sTQrqr

Interest on capital llo/oP. A. and remuneration to e3ch pgtler Rs. 120000 or

1g1 fr g-fi q< ti,/, qro qq r+6 of rsoooo ETt qrffir qrR4rfur Rqr qrt I EIRT 40

,q,tlt d tsoooo srt qrffio, qRsTfro o,eift +'q t t

Interest on capital l2oh P.A. and remuneration to each partner Rs. 180000 which is

not disallowable U/S 40 A(2).
What do you understand by Budgeting? What is the purpose of budgeting? What are the

essentials of effective budgeting system?
4. *ot;'k€ fERd.T t"stq-# sror t fu Vo o,qft of srtrr rrffi fid ffir{ qfi"

inrr srFT {n o,f{ t ssrc t r qR rS d rS'+ go, tS qRfurfr rarst ffi o-r qrfud

A EMI"r fr u,{ o1 srt6t o,Erft fifl=IT cTrr<rro e}tn t

,,From tax point of view it is always better to form a partnership firm and not a company"

do you agree with the statement, if not enumerate a case where formation of a company is

economical from tax point of view as compared to a partnership firm.
5. o-r ffiqq si ffiq-ui1'q ffit rrt gfi ds frfutt

Write on essay on tax planning and financial management decision.



6. T6 ftufq *fr vrq fu Erfr fi Ttri ffi q+tnu oi ffi @ qrs rft t, tr< o-t ftqr qri
qr 

"IGLWI 
qrt, qFI tr1 d'-dff frt{ qrdt q'} w;q d Td+ e-dr{t I

Explain the tax consideration to be kept in mind while deciding on shut down or continue

of a loss makinq bus miss which also has unabsorbed depreciat-on, ^
7. frqlq ffi Hwrq @r t r ffi + ftri 6r ETIqET{rtr'f,I et Tqt otRnq t

What are special tax provision? Discuss the tax incentive for exporter.

8. '=o S-votot r * fidq d or ffitr{ w vtr' fre fafui I

Write a note on tax planning in relation to Amalgamation of companies'
g. t gqilq dt{ t t ffi s{qq rsIH rN qx irreT qrfrr t I

What are the payment on which tax is deducted at source'

10. xltd.w "d-ffi + d q{g1q Aw s t I arrsrq Erh d ftT lEI t'ra s{
2o1g-201e ilo, fuo.ro, eTdlftd qrs sooooo srt fierr arrflrq * Erfr 8oooo0 uqt t t

,orn o t ts invn t fu q{sri B t sFff sooooo svi fr onq *rfr daTr q{sH A

; ffi + idt Td,t Tr sffi 1o0ooo sri of EIh iI'ft t oqft of srq 6f{ TS

.* og t r oq+ + sdq d6 o') TE qmt gt g-flq frftili ft' ot of e so.gx t t

X Ltd. A domestic company has two business A and B for the last two year business A

has been running at loss, At the end of financial year 2018-2019 there are brought

forward losses of R.. 800000 and unabsorbed depreciation Rs. 500000' In the financial

year 2019-20 onward it is expected that business B will earn a profit of Rs. 500000

annually and if business A is continued at a minimum level there will be an annual loss

of Rs. 100000. The company does not have any other Income. Please suggest to the

management of company,-Assuming the rate of tax30.9oh'
(a) q{srq A 6'} t'E o'i ftqr qr} oTQreI qrq rsr qrt t

Whether Bussiness A should be continued or shut down'

1u) qR qqlsr qrt d) frtrt qfr ntr't
If continued then for how many years.


